

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

E6M20-R0 Contract:

06190228 Letting: February 28, 2019 11:00 AM Call Order: 006 Counties: MIAMI-DADE District: District 6

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44092627201 (*)

Contract Desc: MOWING KROME AVENUE MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BANNERMAN LANDSCAPING, INC.	Responsive	Winning bid	\$176,278.91	100.00%
2	CATES TRACTOR SERVICE LLC	Non Responsive	Non-Winning Bid	\$195,334.69	110.81%
3	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Non-Winning Bid	\$208,124.10	118.07%
4	TENUSA, INC.	Non Responsive	Non-Winning Bid	\$238,488.74	135.29%
5	VISUALSCAPE INC.	Responsive	Non-Winning Bid	\$256,018.38	145.23%
6	SUPERIOR LANDSCAPING & LAWN SERVICE, INC.	Responsive	Non-Winning Bid	\$284,391.40	161.33%
7	T.T.C. ENVIRONMENTAL, INC.	Non Responsive	Non-Winning Bid	\$491,135.55	278.61%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

Letting: 06190228 February 28, 2019 **Call Order:** 006 **Contract:** E6M20-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44092627201 (*)

Contract Descr: MOWING KROME AVENUE MIAMI-DADE COUNTY - ROUTINE MAINTENANCE

Electronic bids are requested for a contract to perform Mowing and Litter Removal on various sections of State Road 997 (Krome Avenue- from SW 296 Street to Okeechobee Road) and State Road 9336 (Ingraham Hwy-from SW 187th Avenue to Everglades National Park) in Miami Dade County. The limits and quantities per cycle, per section of the roadway are specified in Attachment 'A' on page 35 of the Specification Package.

Visit www.bidx.com for more information.

Line No / Item ID Altern Item Description	nate Quantity Units	(1) BANNI LANDSCAP		(2) CATES TRAC			PROPERTY SERVICE, INC.
() indicates item is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	LARGE MACHI	INE MOWING (AC)					
0005 E104 4 1 MOWING (REGULAR/I MACHINE)	4,196.946 LARGE AC	24.00000	100,726.70	9.75000	40,920.22	15.00000	62,954.19
0010 E104 4 2 MOWING (SLOPE)	335.960 AC	24.00000	8,063.04	10.00000	3,359.60	50.00000	16,798.00
0015 E104 4 3 MOWING (SMALL MACHINE)	563.927 AC	24.00000	13,534.25	9.00000	5,075.34	75.00000	42,294.53
0020 E110 30 LITTER REMOVAL	9,797.184 AC	5.25000	51,435.22	14.00000	137,160.58	7.50000	73,478.88
0025 E110 32 1 EDGING AND SWEEPING	251.970 PM	10.00000	2,519.70	35.00000	8,818.95	50.00000	12,598.50
0001 LARGE MACHINE MOWING (AC		•	\$176,278.91	•	\$195,334.69		\$208,124.10



03/20/2019

Tabulation of Bids

Page 2 of 5

Letting:	06190228	February 28, 2	019 C	all Order: 006		Contract:	E6M20-R0	
Line No / Item ID Alternate Quantity Item Description Units		(1) BANNERMAN LANDSCAPING, INC.		(2) CATES TRACTOR SERVICE LLC		(3) KNIGHT PROPERTY MANAGEMENT SERVICE, INC.		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$176,278.91		\$195,334.69		208,124.10





Tabulation of Bids

Page 3 of 5

Lettin	ng: C	6190228	February 28, 2	019 Cal	ll Order: 006		Contract:	E6M20-R0	
	e No / Item ID n Description	Alterna	te Quantity Units	(4) TENUS	SA, INC.	(5) VISUALS	SCAPE INC.		LANDSCAPING ERVICE, INC.
() in	ndicates item is b	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	LARGE MACH	INE MOWING (AC))				
0005 MOWIN MACHI		(REGULAR/LA	4,196.946 ARGE AC	18.00000	75,545.03	32.00000	134,302.27	24.00000	100,726.70
0010 MOWIN	E104 4 2 NG (SLOPE)		335.960 AC	68.00000	22,845.28	44.00000	14,782.24	40.00000	13,438.40
0015 MOWIN	E104 4 3 NG (SMALL MA	ACHINE)	563.927 AC	68.00000	38,347.04	35.00000	19,737.45	40.00000	22,557.08
0020 LITTER	E110 30 R REMOVAL		9,797.184 AC	10.00000	97,971.84	8.00000	78,377.47	8.00000	78,377.47
0025	E110 32 1		251.970	15.00000	3,779.55	35.00000	8,818.95	275.00000	69,291.75
EDGIN	G AND SWEE	PING	PM						
		GE MACHINE S OWING (AC)	Section Totals:		\$238,488.74		\$256,018.38		\$284,391.40
		Contract G	Grand Totals:		\$238,488.74		\$256,018.38		284,391.40



03/20/2019

Tabulation of Bids

Page 4 of 5

Letting: 06190228	February 28, 20	019 Cal l	Order: 006		Contract:	E6M20-R0	
Line No / Item ID Altern Item Description	ernate Quantity Units	(7) T.T.C. ENVIF					
() indicates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	LARGE MACHI	NE MOWING (AC)					
0005 E104 4 1 MOWING (REGULAR/L MACHINE)	4,196.946 LARGE AC	25.00000	104,923.65				
0010 E104 4 2 MOWING (SLOPE)	335.960 AC	150.00000	50,394.00				
0015 E104 4 3 MOWING (SMALL MACHINE)	563.927 AC	150.00000	84,589.05				
0020 E110 30 LITTER REMOVAL	9,797.184 AC	25.00000	244,929.60				
0025 E110 32 1 EDGING AND SWEEPING	251.970 PM	25.00000	6,299.25				
0001 LARGE MACHINE MOWING (AC)			\$491,135.55		l		

Contract Grand Totals:

\$491,135.55



03/20/2019

Tabulation of Bids

Page 5 of 5

Letting: 06190228 February 28, 2019 **Call Order:** 006 **Contract:** E6M20-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.